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r+2 x>1
Lf(z) ={ 2 —1<z <1 1AV 08 devden §<6)§2089. £(3)
r—1 < —1

o Watch Video Solution

z+2 z>1
2. f(z) ={ 2 1<z <1 ™0 S00 denasen 3%)0&. £(0)
z—1 z< —1

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5J1WiSiSfZeV
https://dl.doubtnut.com/l/_Z9SKWC7Fj8rN

r+2 x>1
3. f(z) =42 —1<z <1 ™ 0 500 denden 3T)0sk.
zr—1 z< —1

f( —1.5)

° Watch Video Solution

4. f(x) = {(x+2, x>1),(2, -1 le x le1),(x-1, -3

° Watch Video Solution

5.f(x) = {(x+2, x>1),(2, -1 le x le1 )(x-1, -3

o Watch Video Solution

6.f:%—>Rc63f(m):a:3—x—13 W&ng‘})f_\g,f(x)—l—f<%>:0€9&

S°H0C.

° Watch Video Solution



https://dl.doubtnut.com/l/_XitFUVtiQS4N
https://dl.doubtnut.com/l/_behClOtoT738
https://dl.doubtnut.com/l/_GryrwCLMQmpy
https://dl.doubtnut.com/l/_5yf3BIaKtdZK

7.f:R— R f(z) =1—2*/1+z* QKDY , f(tan ) = cos 260 D

S°H0CS.

° Watch Video Solution

8. f:%—>R o flz)=log|1+z / 1—z ™ a§ay , f(2e/

14 2°%) = 2f(z) 9 SPH0c.

° Watch Video Solution

9. A ={-2,1,0]1,2} @00B f: A — B H0fQ a0 f(z) =z’ +z + 1 ™

ABAY B  308)06.

° Watch Video Solution

10. A={1,2,3,4},9008 f: A — R & f(z) = 22—z +1/z+ 1 &')ngi’)f_\gf

S| §c6)%‘2)oc‘§.


https://dl.doubtnut.com/l/_5yf3BIaKtdZK
https://dl.doubtnut.com/l/_t0oHp3fB2oAO
https://dl.doubtnut.com/l/_uKk2PLz0SPmu
https://dl.doubtnut.com/l/_c5UvZ0pVAkdB
https://dl.doubtnut.com/l/_p3kbSM7U7KMl

° Watch Video Solution

N f(z +y) = f(zy) Vz, y 09003 fE?\p)é DDODNO 9 STPDOCE.

° Watch Video Solution

122 Asfx / 1 le x le 1}, fix = x*2), gx} = x*3)
f:Ararr A

° Watch Video Solution

1B. Afx / 1 le x le 1, fix = x*2), gx} = x*3)

g:Ararr A

° Watch Video Solution



https://dl.doubtnut.com/l/_p3kbSM7U7KMl
https://dl.doubtnut.com/l/_rOsmAeJk9qHU
https://dl.doubtnut.com/l/_MPnsIo7fOCwq
https://dl.doubtnut.com/l/_xgvFNvKsIol3
https://dl.doubtnut.com/l/_iG81a5m6dq8s

14. 06 GBS DD HoRO, OO , D0 WHTT® AFAN0S0.

f:R — R f(z) = 2z + 1/3 ™ A&Dowro

° Watch Video Solution

15. 508 >B3S DD DOPRO, VIO , EHPVO WHT TP ABo0H0C.

f:R — (0,00) f(z) = 2°° A&KDo0

° Watch Video Solution

16. S08 S IO DOPRO, VIO , EHPVO WHT TP ABo0H0C.

f:(0,00) = R f(z) = log, zMP A&DO0

° Watch Video Solution

17. 308 S DA DofRo, OIFo , D0 VYHTT® AYAN0S0db.

£:[0,00) — [0, 00) f(z) = zme QD00

| ° Wiak A \NtAAaA CAlLLikiAan


https://dl.doubtnut.com/l/_iG81a5m6dq8s
https://dl.doubtnut.com/l/_6dkJmNJzqLuX
https://dl.doubtnut.com/l/_2ILdpsEUXiKO
https://dl.doubtnut.com/l/_VOGPRbzAQDQ1
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18. 06 BS DD HoRO, OO , D0 WHTT® AYAN0S0.

f:R = [0,00) f(z) = z*m AKDO0

° Watch Video Solution

19. 508 B3S DD DoPRO, VIO , DO WHT TP ABo0H0C.

f:R — R f(z) = 2’ Q&D00

° Watch Video Solution

20. g ={(1,1), (23),3,5.,(4,7)} . @® A={1,23,4} 00 B={1,3,57} L QD0

9EDOT? g(x)=ax+b M AR, a, b denden §<§)‘§‘&o&.

° Watch Video Solution



https://dl.doubtnut.com/l/_VOGPRbzAQDQ1
https://dl.doubtnut.com/l/_agf8pbb97Xjx
https://dl.doubtnut.com/l/_4txM60d7yzze
https://dl.doubtnut.com/l/_NxMogkMcGauY

21. f: R — R & f(z) = 3" + 377 /2 P &R, flx+y) + f(xy) = 2f(x) f(y)

29 PN 0.

° Watch Video Solution

22. f:{-1,1} = {0,2} & f(x) = ax +b ™ AKIAS IADO

H0RI00B a, b denden 560%)06.

-~

° Watch Video Solution

23. f(x) = cos (log x) 90003 f( 1 )f(l> — %{f(%) + f(acy)} =0

z )’ \y
29 AP0,

o Watch Video Solution

24. f(z) = €* 00w g(z) = log, z ©@0NS fog = gof D SrDoc. f !

50805 g~ e 380%)00.

[ - 1


https://dl.doubtnut.com/l/_qHt8sAZtnJVv
https://dl.doubtnut.com/l/_Lpim8zLZtAeL
https://dl.doubtnut.com/l/_27xlqEmrzz5x
https://dl.doubtnut.com/l/_fB1Uy95nkaPo

| ) Watch Video Solution

Y Y
25. = 08050 =2 eonad (fog)ly)=y &
f(y) T a(y) Niwnr og)(y)=y
SHoB

° Watch Video Solution

26. f:R — R, g:R — Rod f(z) = 22° + 3,g(z) = 3z — 2 &’)Qg&f_\g

(fog) (x)

° Watch Video Solution

27. f:R — R,g: R — RO f(z) = 22° + 3,g(z) = 3z — 2 &’)Qg&f_\g

gof (x)

° Watch Video Solution



https://dl.doubtnut.com/l/_fB1Uy95nkaPo
https://dl.doubtnut.com/l/_WdKZMVKZYGSl
https://dl.doubtnut.com/l/_15izu0olV0eu
https://dl.doubtnut.com/l/_GdlOKmd4LYPU

28. f:R — R, g: R — Ro& f(z) = 2z% + 3, g(z) = 3z — 2r® KDY

fof (0)

° Watch Video Solution

29. f:R — R, g:R — Ro& f(z) = 2z% + 3, g(z) = 3z — 2r® KDY

go (fof)(3) ©» §c63§62)0<%.

° Watch Video Solution

30. f:R — R,g:R — Ro® f(z) =3z —1,g9(x) = 2>+ 1e KDY

fof (z* + 1)

° Watch Video Solution

3. f:R— R,g:R — RO® f(z) =3z —1,g(z) = > + 1Ire AKDRQ

fog (2)



https://dl.doubtnut.com/l/_oFGhwbVBAVaU
https://dl.doubtnut.com/l/_I9Ze2WOFiqJC
https://dl.doubtnut.com/l/_96DweZCyiGyn
https://dl.doubtnut.com/l/_Hd3FbyxvIAPR

| & Watch Video Solution I

32. f:R— R,g:R — Rod f(z) =3z —1,9(z) = 2>+ 1re KDY

gof (2a-3) §:6)§‘2}0<%.

o Watch Video Solution

33. f(z) = %, g(z) = \/z ©o0d Vz € (0, 00)% gof (x) §c§)§6&o&z.

o Watch Video Solution

34. f(z) =2z — 1,9(z) = = + 1/ 200008 V& € R gof (x) $08)06.

o Watch Video Solution

35.  f(z) =2,9(z) = 2% h(z) =2z Vz € Roonad  [fo(goh)  (X)]

§<6)§‘2}0c39.

s I


https://dl.doubtnut.com/l/_Hd3FbyxvIAPR
https://dl.doubtnut.com/l/_MbjdV1M3nXyX
https://dl.doubtnut.com/l/_YK9Ncoe4ZWv8
https://dl.doubtnut.com/l/_JIK4Wj9HKpLs
https://dl.doubtnut.com/l/_0u4mbROS6fdO

| ¥ Vvatch Video Solution |

36. 300 2dare Ssrd  IwHod. a,bER,f:R— R

f(z) = az + b(a # 0) ™ AKDY

o Watch Video Solution

37. $00 HDoIre ISWred IWwHod. f:R - (0,00)d f(z) =5 m

QKDY

o Watch Video Solution

38. 500 HDHOIre ASHTD 38080k, f:(0,00) — R f(z) = logyz ™

QKDY

o Watch Video Solution



https://dl.doubtnut.com/l/_0u4mbROS6fdO
https://dl.doubtnut.com/l/_gdK2hMm4aos5
https://dl.doubtnut.com/l/_cnXG7UMKj08H
https://dl.doubtnut.com/l/_aKX0lErdPZB6
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39, f(z)=1+4+z+2>+.....]z] <1 ©®wad f'==z-

°H0CS.

° Watch Video Solution

40.f:[1,00) — [1,00), f(z) = 27 " (z — 1) TP AKIY fle §<§)‘§s&0&9.

° Watch Video Solution

1
4. f(z) =z — P 1,z # + loondfof 'z = z &9 SPHOG.

° Watch Video Solution

42, A={12;3}, B={a, B,7}, C={p.qr} ®ond f:A — B,g:B — C oD

f={1,2),(27),3,8)}9={(aq,(B,7),(v,p)} eom ‘%CZS‘D;‘B f.g

e Bhes poaen @d(gof) ' = flog ! 9 SrHodk.

° Watch Video Solution



https://dl.doubtnut.com/l/_k4iKP8jCZRyM
https://dl.doubtnut.com/l/_WyD9Tvg45pob
https://dl.doubtnut.com/l/_AfOp3H6WALR2
https://dl.doubtnut.com/l/_79wFuhGTApCk

43. f:R—R,g:R— R,f(x) = 3x2, gx) = x*2) +1

, gof (-1 oD §<63‘§‘&o&9.

° Watch Video Solution

44, f:R - R,g:R - R, f(z) =3z — 2,g(z) = x> +1 c‘\’)qyi)?_\g ,

gof(x — 1)®o §é)€&0&.

° Watch Video Solution

45. f ={(1,a),(2,0),(4,4d),(3,b)} g"(-) = {(2,2), (4b), (1,0),

(3,d)} (gof)"(-1) = f(-1) 0g"(-1)'®I AN OC.

° Watch Video Solution



https://dl.doubtnut.com/l/_79wFuhGTApCk
https://dl.doubtnut.com/l/_i7d2enALqsB0
https://dl.doubtnut.com/l/_fU3l1szldVUU
https://dl.doubtnut.com/l/_wldn8JhEvupA

46. f:R - R,g:R - R o f(z) =2z —3,g9(z) = 2>+ 5 9003

(fog) ~'(z) 8%)0.

o Watch Video Solution

47. f(z) = =2, g(z) = 2% oS (fog)(x) = (gof)(x) DDZBEI0 A*E0S0G.

o Watch Video Solution

rr 1 (@ # =+ 1) 0o (fofof(x), $0¥)0d.

48. f(z) =

w_

o Watch Video Solution

49. & fo® TRIreg  QJDare  JazEen

flz) =222 -5z +7/(z — 1)(z — 2)(z — 3)

§<63§&oc39.

o Watch Video Solution



https://dl.doubtnut.com/l/_olUlliGmjppt
https://dl.doubtnut.com/l/_OA0zhMiL3JCL
https://dl.doubtnut.com/l/_Y1aOuEHHzqoy
https://dl.doubtnut.com/l/_iinZKInGi262
https://dl.doubtnut.com/l/_wvgIqZhk2hmq

50. 83 300 TFQRINTOF QAT YBFeD $0H0&. f(z) = P
og(2—=z

° Watch Video Solution

51. & $08 YIS RDAre HBFe $08)0d. f(z) = [z — 3|

° Watch Video Solution

52. & $08 YISO DT HBFe $03)0d. f(z) = 4z — o

° Watch Video Solution

1

53. & $08 YISO HDAIre HBFen $03)0d. f(x) = —
— X

o Watch Video Solution

54. 83 300 SFQINTOF AT YAFeD 3080k f(z) = 3z [z + 1



https://dl.doubtnut.com/l/_wvgIqZhk2hmq
https://dl.doubtnut.com/l/_vRoCrmV4C6iY
https://dl.doubtnut.com/l/_JyVCM85gISGu
https://dl.doubtnut.com/l/_BlIydTP4iTy6
https://dl.doubtnut.com/l/_x2oLbn7SYf5g

° Watch Video Solution

55. & $08 YILregNIAre BT 308)0d. f(r) = vz — 25

° Watch Video Solution

56. & $08 TYILrO; IO HBF 03)0. f(z) = /2 — [2]

° Watch Video Solution

57. 83 308 SFQINTOF YDATO BFed 3080 f(z) = /[z] — =

° Watch Video Solution

58. 508 PQNNTOF DA FFPe $05)06.  /[z] — @

° Watch Video Solution



https://dl.doubtnut.com/l/_x2oLbn7SYf5g
https://dl.doubtnut.com/l/_LjnNOlvOzyNa
https://dl.doubtnut.com/l/_ADwqeVuruEag
https://dl.doubtnut.com/l/_EzFbtLevqomr
https://dl.doubtnut.com/l/_X8RyyjnGuO78
https://dl.doubtnut.com/l/_FHy7EGQrPnBY

59. 808 TPYIKPOS QAT FFPen $8)0d. sin(z] /1 + [x]?

° Watch Video Solution

60. 308 TPYIJrOFHIOIre rgyen S0k, ¥ — 4/ — 2

° Watch Video Solution

61. 308 FYINTOF YDATR FFYen 3808)0d. /9 + z°

° Watch Video Solution

62. f,g YN Jreg HDAPOD f(z) =2z — 1, g(z) = 2* ™ KA ,

208 73 §c63‘§‘2)o&. (3f-2g)(x)

° Watch Video Solution



https://dl.doubtnut.com/l/_FHy7EGQrPnBY
https://dl.doubtnut.com/l/_5aZzoDyKgY5J
https://dl.doubtnut.com/l/_DtDs8N4oNsrt
https://dl.doubtnut.com/l/_cX4uxiwE4hcP

63. f,g °QD PO adDarod f(r) =2z — 1, g(z) = 2* ™ QKDY

208 e3Q §<6)‘§‘3)oc‘§. (fg)(x)

° Watch Video Solution

64. f.g QD O aDorod f(z) =2z — 1, g(x) = z? ™ QKDY

308 33D §<6)‘§62)0&9. (sqrt f/ g)(x)

° Watch Video Solution

65. f,g °QD PO adDarod f(r) =2z — 1, g(z) = 2* ™ QKDY

$00 3R 308)0%. (F+ g + 2 )(x)

° Watch Video Solution

66.={(1,2), (2,3),(3,1)} @00, $08 a¢3Q $0%)0. 2f

° Watch Video Solution



https://dl.doubtnut.com/l/_5nK2DIffqZpp
https://dl.doubtnut.com/l/_eyWVZGuuEWN7
https://dl.doubtnut.com/l/_lJQZ7GcHsDcv
https://dl.doubtnut.com/l/_OPjEymwABBDb

67. F={(1,2), (2,3),(3,1)} @900, §08 3R 308)0%. 2 +

o Watch Video Solution

68. ={(1,2), (2,-3),(3,1)} €90003, $08 =3 §<63§&o&9. 12

o Watch Video Solution

69. f={(1,2), (2,3),(3,1)} @00, $08 €30 300, | /F

o Watch Video Solution

70. 300 YIS/ H0IrO AT $05)064.f(z) = v/2® — 3z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_OPjEymwABBDb
https://dl.doubtnut.com/l/_LzF4gY3awFgd
https://dl.doubtnut.com/l/_9QvLYOzKRb6Z
https://dl.doubtnut.com/l/_pzOq3LRtnwCz
https://dl.doubtnut.com/l/_Qz0qycZ2tlp5

7. %08 Pssrey oo Qi@ S08)0d.
f(z) = log(ae2 — 4z + 3)

° Watch Video Solution
72. $0B @ TRIrO;  dDore  2dTed 3050k
flz)=V24+z+2—z/x

° Watch Video Solution
3. S0B  TRIcrO; QDo 2dFed 3050k
(o) = ——=5lo& ;10

o Watch Video Solution
74 06  TRSdreoy  pdare  Ppdwen  30Y)od.



https://dl.doubtnut.com/l/_FmYrwtPHzELp
https://dl.doubtnut.com/l/_CNl8uz8tn92J
https://dl.doubtnut.com/l/_fEqa7mgdNIqF
https://dl.doubtnut.com/l/_iyeVQQN6r7Wq

| ) Watch Video Solution

75. 808 rQHrog YD aire Hiwen $08)0d.f(z) = 1/ + ||

° Watch Video Solution

76. R / {0} p Qe Swrog gbavo f(z) =z /e” —1- 5 +1 58

DDOD0 9 SPDOC.

° Watch Video Solution

77. %06 TS rey pdofre JPdTen, FFyed  $DS)od.

f(z) = tanw[z] /1 + sinw[z] + [z?]

° Watch Video Solution



https://dl.doubtnut.com/l/_iyeVQQN6r7Wq
https://dl.doubtnut.com/l/_s8N8a9nEkcH3
https://dl.doubtnut.com/l/_5bDkllB6VQnQ
https://dl.doubtnut.com/l/_YnUXft07WYS7

78. %00 TS rey pDore PITe, FFYed  30F)0d.

flz) =2/2 - 3z

° Watch Video Solution

79. %08 TS re; pDore PITen, FFYed  30F)0d.

f(@) = |e| + 1+ z|

° Watch Video Solution

80. f:R{0} - R f(z) =z + %n" A%y (f(z))* = f(2?) + f(1)

29 PO

° Watch Video Solution

3t -2 >3
81.f§3)053°&& flz) = 2 -2 —2<z<2 W&@z‘.’)?_\g f(4), f(2.5), f(-2),
2 +1 <3

f(-4), f(0),f(-7) & §c63'§‘2)o&.


https://dl.doubtnut.com/l/_YCEdSlgNY8uf
https://dl.doubtnut.com/l/_Htt8FqvrD8TX
https://dl.doubtnut.com/l/_lV7Ox4fbPwR4
https://dl.doubtnut.com/l/_N5bW1j8RnELI

° Watch Video Solution

82. A= {O, %, %, %, %},f:A — B dofiQ0o eow, f(x) = cos x

QKA B 360%)00.

° Watch Video Solution

8. f:R—>R & mf(z) =el® —e %/e® 477 AKDR 30,

2010 , BHEF0 9T ONIT AYOOI0G.

° Watch Video Solution

T Tz > 2
br — 2 <2

&xrbeao 090003 DB8)05065. .

84.f: R - RO mf(z) = { QKDY f 930, HofRo ,

° Watch Video Solution



https://dl.doubtnut.com/l/_N5bW1j8RnELI
https://dl.doubtnut.com/l/_zFSd4JN1fyWO
https://dl.doubtnut.com/l/_ThWFHFxpQVlZ
https://dl.doubtnut.com/l/_dpnN29AmINWM

85.2" + 2V = 2 HDEB0 TR0 AFD0DDE DIAHO y(x) HBF0 38)06.

o Watch Video Solution

86.f:R — R f(x +y) = f(z) + fly)Vz,y € R, f(1) = T Q5D

Y =1"f(r) $0%)0.

s

° Watch Video Solution

87. f(z) = cos’ x + sin* z /sin® z + cos* z V& € Resansd f(2012) =1 &9

SN0,

° Watch Video Solution

88.f:R— R,g:R — R oD f(z) =4z — 1, g() :a:2—|—2n°c€)(‘§§zi')?_\3

(gof)(x)

° Watch Video Solution



https://dl.doubtnut.com/l/_6EDRADUsjmRv
https://dl.doubtnut.com/l/_iL6uAbCI3SX6
https://dl.doubtnut.com/l/_yauFGF8Dh96u
https://dl.doubtnut.com/l/_97BkeD4iV6qv

89.f:R—> R,g:R — R oD f(z) =4z — 1, g() :a:2—|—2n°c€)(‘§§zi')?_\3

(gof)(a+1/4)

° Watch Video Solution

90. f:R - R,g: R — R o f(z) = 4z — 1, g(x) :a:2—|—2n°c€)(‘§§zi')?_\3

(fof)(x)

° Watch Video Solution

9. f:R - R,g: R — R o f(z) =4z — 1, g(x) :a:2—|—2ﬁ°c§’)q8zi')?_\3

go (fof)(0) §<6)§6&0é.

° Watch Video Solution



https://dl.doubtnut.com/l/_97BkeD4iV6qv
https://dl.doubtnut.com/l/_lN8dd6oaiZp2
https://dl.doubtnut.com/l/_DCdhxrB17I8f
https://dl.doubtnut.com/l/_T6go9bM7zktA

1+z2z 0<2<2

. _ S,
92. f.[0,3]—>[0,3],f(><)_{3_z ez < 13 T KDY
{0, 3} C {0, 3} &9 502 fof 303)06.
° Watch Video Solution
93. f,g:R — R DOTO D

f(z) = {2 Z ; g,g(w) = {;1 z ; g 9 AKAY (fog)(m) + (gof)

€ 0o §<6)°s‘&oc%.

° Watch Video Solution

94. A={1,2,3}, B={c, 3,7}, C={p,gs} ®ond f:A — B,g:B — C oD

f={1,2),(2,7), 3 8)}g={(a9),(B7), (7,p)} or & fg

o BHes P @A(gof) ! = f log ! 9 SrHok.

° Watch Video Solution



https://dl.doubtnut.com/l/_RwyGPSkhULuB
https://dl.doubtnut.com/l/_EWRnovAvsBHa
https://dl.doubtnut.com/l/_ZS7T2VyYXe26

95.f:Q — Q, f(z) =5z + 4P RS z € Q H IKAIQ f 300

° Watch Video Solution

9%6. & 308 Y Kwrey pDored JiTed  3DF)od.

f(z) =1/6z —z®> -5

° Watch Video Solution

97. & 0B RS Mrey DDored JdTed  30F)od.

1
fla) = Va2 —a2(a > 0)

° Watch Video Solution

98. & 308 Y Krey pDored JiTed  3DS)od.

f(@) = /(@ +2)(z - 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_78dO2byGtTVx
https://dl.doubtnut.com/l/_nONWSXkNLzqB
https://dl.doubtnut.com/l/_jmSli4daTaZ2
https://dl.doubtnut.com/l/_D0Cs5AjgVK6P

99. & 08 YD Jreg DTN BT

f@) = /e —a)(B-2)(0 < a<§p)

&63’?2)0&.

° Watch Video Solution

100. & 00 YD roy Dored T  3DF)od.
9 1
fl@) = [a* —1+
Va? — 3z + 2
° Watch Video Solution
0. & 300 PS5 rey JIDATRD  DiTw  3DS)od.

flz) =1/4/lz| -z

° Watch Video Solution

102. 82 308 Y JregHHoreH Yo@en $0Hod. f(z) = /|2 — =



https://dl.doubtnut.com/l/_D0Cs5AjgVK6P
https://dl.doubtnut.com/l/_eEXggSUcm3Aa
https://dl.doubtnut.com/l/_FnnAM4rZglpn
https://dl.doubtnut.com/l/_UWX07BWIzd1c
https://dl.doubtnut.com/l/_tUtI44aK4L1V

° Watch Video Solution

103.={(4,5), (5,6),(6,4)}, 8={(4,4),(6,5),(8,5)} @000 f + g 1 ¥0%)00%.

° Watch Video Solution

104. f={(4,5), (5,6),(6,_4)}’ g={(4,_4)’(6’5)’(8’5)} @O&)@ fg Y §¢63'§6&0(?9

° Watch Video Solution

105. f={(4,5), (5,6),(6,4)}, g={(4,4),(6,5),(8,5)} @900 f/g &0 30%)06.

° Watch Video Solution

106. $08 RN rey DDOHO PO, FFPeD S08)0d.

flz)=2+z/2—=z

° Watch Video Solution



https://dl.doubtnut.com/l/_tUtI44aK4L1V
https://dl.doubtnut.com/l/_ZW6DR3VBVvFN
https://dl.doubtnut.com/l/_riEJ973hnsWM
https://dl.doubtnut.com/l/_wn9ZRMU73otu
https://dl.doubtnut.com/l/_VhBpwCaOgAPp

107. 508 RS Srog pdahe  Qoween,  THpen S08)0d.

° Watch Video Solution

108. f(z) = 2%, g(z) = |z| ™ QKR $08 PSAITPOD §<6)§62’0(39. (f+g)

° Watch Video Solution

109. f(z) = 2%, g(z) = |z| ™ QKR $08 PSAITPOD §<6)§62’0(39. (f-g)

° Watch Video Solution

10. f(z) = 27, g(z) = || ™ QKDY S08 DAL 3&8)06. fg

° Watch Video Solution



https://dl.doubtnut.com/l/_VhBpwCaOgAPp
https://dl.doubtnut.com/l/_BwbKhF2jYfMC
https://dl.doubtnut.com/l/_uCJiVJn3pRt9
https://dl.doubtnut.com/l/_YLQN41YfhwdA
https://dl.doubtnut.com/l/_hfqOFe3TTZzz
https://dl.doubtnut.com/l/_u2DLmyUNW5UG

M. f(z) = 22, g(z) = |z| ™ QDR $08 YIATTPOD §<63'§52)O(39. 2f

° Watch Video Solution

2. f(z) = 2%, g(z) = |z| ™ KDY 308 PDosre 3ok, f2

° Watch Video Solution

113. f(z) = 22, g(z) = |z| P QKR $08 PDATOD §<ﬁ)‘§‘2}0&. f+3

° Watch Video Solution

14, 308 JDAreS D 00 Fo F JDored Agdosod.

f(z) =a® —a ® + sinzx

° Watch Video Solution



https://dl.doubtnut.com/l/_u2DLmyUNW5UG
https://dl.doubtnut.com/l/_aEwp8svpreev
https://dl.doubtnut.com/l/_i3I7eVBSr50t
https://dl.doubtnut.com/l/_Iz0i4aYXQwFn

15. 308 pDafred I K8 For B JYDHared dgdosod.

flz) =z(e® —1/e® +1)

° Watch Video Solution

6. 308 PDared I K For B JPDHared dgBosd.

f(z) = log(a: + z? + 1)

° Watch Video Solution

7. %00 RS droy  ddabe  JdTed 3050k

° Watch Video Solution

118. 508 8 Swreg Hhohe Hi@en 35050k f(z) = log(z — [x])

I ° Watch Video Solution


https://dl.doubtnut.com/l/_DlZa7U1vjFwf
https://dl.doubtnut.com/l/_coFOSmVK1P92
https://dl.doubtnut.com/l/_N4dw5CIVPqm5
https://dl.doubtnut.com/l/_xxxdiWJdLt0l

9. 00 RS roy  Jdove  Jdwed 3050k
f(@) = \/log1(3 — @ /2)

o Watch Video Solution
120. $08 RS Swreog  pdove  pdFw 3050k

1
fle)=vVe +2+ ———
logyo(1 — )

° Watch Video Solution

21 %00 RS Sroy  ddove  Jdwed 3050k

@)= 3Tz +3—2/a

° Watch Video Solution



https://dl.doubtnut.com/l/_xxxdiWJdLt0l
https://dl.doubtnut.com/l/_ovajS7qXJGtP
https://dl.doubtnut.com/l/_ioghsjBV2dJR
https://dl.doubtnut.com/l/_1C65qBwVkxaY

